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Ajmal National Talent Search Examination, 2009
Class : III

Time/a]Ì̂  : 2 hours (H³Oôç) Full Marks˚ ˜≈Í¬ Ú•§1– (30+30+40)=100

INSTRUCTIONS ˚ øÚÀ√«˙±ª˘œ –¡

1. Attempt All Questions. ̊  õ∂ÀÓ¬…fl¡ÀÈ¬± õ∂ùü1 Î¬◊M√√1 fl¡1±º

2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d,

in the box ̊  õ∂øÓ¬ÀÈ¬± õ∂ùü1 ‰¬ø1È¬± ø¬ıfl¡ä Î¬◊M√√1 ø√ ˛̊± ’±ÀÂ√º qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘ ˛̊± ◊̋√√ fl¡± ∏̄Ó¬ Ôfl¡± ¬ı±fl¡‰¬Ó¬¡ a, b, c  ¬ı±¡ d ø˘ø‡¬ı±º

General Knowledge ˚ ¸±Ò±1Ì :±Ú

1. What is Ikebana ? ̊  ë ◊̋√√Àfl¡¬ı±Ú±í øfl¡∑¡

a) Bamboo works ̊  ¬ı±“̋ √√1 fl¡±˜-fl¡±Ê√ b) Japanese floral art ̊  Ê√±¬Û±Úœ Ù≈¬˘¸7¡¡¡±

c) Iron works ̊  Œ˘Ã √̋√fl¡± «̊ d) A variety of banana ̊  ¤ø¬ıÒ fl¡˘1 õ∂fl¡±1¡

2. What was the former name of Thailand ? ̊  Ô± ◊̋√√À˘G1 ¬Û≈1øÌ Ú±˜ øfl¡ ’±øÂ√̆ ∑

a) Myanmar ̊ ˜…±Ú˜±1 b) Burma ̊  ¬ı± «̃± c) Siam ̊  ø‰¬˚̨±˜ d) Tharpo ̊ Ô±À¬Û«±

3. ‘‘My Country is dearer than my Uncle’’ who said this ? ̊  ëŒ√̇ Ó¬Õfl¡ Œ˜±˜± ◊̋√√ Î¬±„√√1 Ú √̋√̊ ˛í Œfl¡±ÀÚ Δfl¡øÂ√̆ ∑

a) Bhagat Singh ̊  ̂ ¬·Ó¬ ø¸— b) Sri Aurobindo ̊  ¿ ’1ø¬ıμ

c) Kanak Lata ̊  fl¡Úfl¡ ̆ Ó¬± d) Lachit Borphukan ̊  ̆ ±ø‰¬Ó¬ ¬ı1Ù≈¬fl¡Ú

4. The animal that opens its eyes while sleeping ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ Ê√cÀª ‰¬fl≈¡À˜ø˘ ŒÈ¬±¬ÛøÚ ̊ ±˚̨∑

a) Horse ̊  Œ‚±“1± b) Whale ̊  øÓ¬ø˜˜±Â√ c) Dolphin ̊  Î¬˘øÙ¬Ú d) Snake ̊  ̧ ±¬Û

5. ‘Saffron’ in the tricolour signifies ̊  1±©Ü™œ˚̨ ¬ÛÓ¬±fl¡±1 Œ·1n∏ª± 1À„√√ øfl¡ ̧ ”‰¬±˚̨∑

a) Peace ̊  ̇ ±øôL b) Sacrifice ̊  Ó¬…±· c) Prosperity ̊  Î¬◊ißøÓ¬ d) None of these ̊ ¤È¬±› Ú √̋√̊ ˛

6. The anchor in ‘Kya Aap Pachvi Pass Se Tez Hain’ was ̊  ëëfl¡…± ˛̊± ’±¬Û ¬Û±“‰¬ªœ ¬Û±Â√ Œ¸ ŒÓ¬Ê√ ̋ √√…± ˛̊íí ’Ú≈á¬±ÚÀÈ¬±1 ̧ ”SÒ±1 Œfl¡±Ú ’±øÂ√̆ ∑

a) Hrithik Roshan ̊  Ÿ¬øQfl¡ Œ1±˙Ú b) Shahrukh Khan ̊  ù´± √̋√1n∏‡ ‡±Ú

c) Amitabh Bachchan ̊  ’ø˜Ó¬±ˆ¬ ¬ı2‰¬Ú d) Salman Khan ̊  Â√̆ ˜±Ú ‡±Ú

7. Find the odd one out ̊  ̧ ±‘√̇ … ŒÚ±À √̋√±ª±ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±

a) Chloromint ̊  Œflv¡±1íø˜KI◊ b) Gems ̊  ŒÊ√̃

c) Kit Kat ̊  øfl¡È¬-fl¡±È¬ d) Kitply ̊  øfl¡È¬õ≠± ◊̋√√

8. Whose image is visible in paper money ̊  fl¡±·Ê√1 ̃ ≈̂ ±Ó¬ [ŒÚ±È¬] fl¡±1 õ∂øÓ¬26√ø¬ı Œ√‡± Œ¬Û±ª± ̊ ± ˛̊∑

a) Pt. Jawaharlal Nehru ̊  ¬ÛøGÓ¬ Ê√ª± √̋√1˘±˘ ŒÚ √̋√1n∏ b) Smt Indira Gandhi ̊  ̋ ◊√√øμ1± ·±gœ

c) Mahatma Gandhi ̊  ̃ √̋√±R± ·±gœ d) Bhagat Singh ̊  ̂ ¬·Ó¬ ø¸—

9. The National Song of India is ̊  ̂ ¬±1Ó¬1 Ê√±Ó¬œ ˛̊ ̧ —·œÓ¬ ̋ √√í˘ ----

a) Jana Gana Mana ̊  Ê√Ú-·Ì-˜Ú b) Sare Jahan Se Achcha ̊  Â√±À1 Ê√±“̋ √√± Œ¸ ’±26√±

c) Vande Mataram ̊  ¬ıÀμ ̃ ±Ó¬1˜ d) Hum Sab Bharatiya Hai ̊  ̋ √√±˜ ̧ ¬ı ̂ ¬±1Ó¬œ˚̨ ̋ √√…±˚̨
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10. In which famous memorial, the words ‘‘Hey Ram’’ are inscribed? ̊  ëëŒ √̋√ 1±˜íí fl¡íÓ¬ ø˘‡± ’±ÀÂ√∑

a) Santi Ban ̊  ̇ ±øôL ¬ıÚ b) Shakti Sthal ̊  ̇ øMê√ ¶ö̆ c) Raj Ghat ̊  1±Ê√‚±È¬ d) India Gate ̊  ̋ ◊√√øG˚̨± Œ·È¬

11. ‘Kabuliwala’ was written by ̊  ëfl¡±¬ı≈̆ œª±˘±í Œfl¡±ÀÚ 1‰¬Ú± fl¡ø1øÂ√̆ ∑

a) Kazi Nazrul Islam ̊  fl¡±Ê√œ ÚÊ√1n∏̆  ̋ ◊√√Â√̆ ±˜ b) Munsi Premchand ̊  ̃ ≈=œ Œõ∂˜‰¬±μ

c) Satyajit Ray ̊  ̧ Ó¬…øÊ√Ó¬ 1˚̨ d) Rabindranath Tagore ̊  1ø¬ıf Ú±Ô Í¬±fl≈¡1

12. India became a republic on ̊  ̂ ¬±1Ó¬¬ı ∏̄« Œfl¡øÓ¬ ˛̊± ·Ì1±Ê√… Δ √̋√øÂ√̆ ∑

a) 15 August, 1947 ̊  15 ’±·©Ü, 1947 b) 26 November, 1949 ̊  26 ÚÀˆ¬•§1, 1949

c) 26 January, 1950 ̊  26 Ê√±Ú≈ª±1œ, 1950 d) None of these ̊  ̋ ◊√√̊ ˛±À1 ¤È¬±› Ú √̋√̊ ˛

13. ................. is Known as the knightingale of India ? ̊  ........................ fl¡±fl¡ ̂ ¬±1Ó¬1 Ú± ◊̋√√øÈ¬Àe˘ ¬ı≈ø˘ Œfl¡±ª± ̋ √√̊ ˛∑

a) Rani Laxmi Bai ̊  1±Ìœ ̆ Ñœ¬ı± ◊̋√√ b) Sarojini Naidu ̊  ̧ À1±øÊ√Úœ Ú± ◊̋√√Î≈¬

c) Smt Indira Gandhi ̊  ̋ ◊√√øμ1± ·±gœ d) Kanaklata ̊  fl¡Úfl¡ ̆ Ó¬±

14. The movement of the Earth on its own axis is called ̊  ¬Û‘øÔªœÀ ˛̊ øÚÊ√ fl¡é¬Ó¬ õ∂√øé¬Ì fl¡1±fl¡ øfl¡ Œ¬ı±À˘∑

a) Rotation ̊  ’±ø˝êfl¡ ·øÓ¬ b) Revolution ̊  ¬ı±ø ∏̄«fl¡ ·øÓ¬

c) Equinox ̊  ̧ ˜ø√Ú d) Perihelion ̊  Œ¬Ûø1ø √̋√ø˘˚̨Ú

15. ................ is called the ‘‘Roof of the world’’ ̊  ....................... ¬fl¡  Û‘øÔªœ1 ̃ ≈Ò‰¬ Œ¬ı±À˘∑

a) Mt. Everest ̊  ¤ˆ¬±À1©Ü ̇ ‘—· b) Mt. K
2 
˚ ˜±Î¬◊KI◊ Œfl¡-2

c) Pamir ̊  ¬Û±˜œ1 d) Gangotri ̊  ·Àe±Sœ

16. Birbal was a Court Poet of ̊  ¬ıœ1¬ı˘ Œfl¡±Ú 1Ê√±1 1±Ê√fl¡ø¬ı ’±øÂ√˘∑

a) Akbar ̊  ’±fl¡¬ı1 b) Jehangir ̊  Ê√± √̋√±eœ1 c) Chandragupta ̊  ‰¬f&5   d) Kanishka ̊  fl¡øÚ©®

17. The founder of Mughal Dynasty in India was ̊  Œ˜±·˘ ̧ ±•⁄±Ê√…1 õ∂øÓ¬á¬±Ó¬± Œfl¡±Ú ’±øÂ√̆ ∑

a) Qutub-ud-din-Aibak ̊  fl≈¡Ó≈¬¬¬ı≈øVÚ ’± ◊̋√√À¬ıfl¡ b) Ibrahim Lodhi ̊  ̋ ◊√√¬ıË± √̋√œ˜ Œ˘±Î¬œ

c) Babur ̊  ¬ı±¬ı1 d) Akbar ̊  ’±fl¡¬ı1

18. The Captain of ‘Rajasthan Royals’ in IPL 2008 was ̊  2008 ‰¬ÚÓ¬ Œ‡˘± IPLÓ¬ 1±Ê√¶ö±Ú 1À ˛̊̆ ‰¬ √̆ 1 Œfl¡ÀõI◊̋ ◊√√Ú Œfl¡±Ú ’±øÂ√̆ ∑

a) Sourav Ganguly ̊  Œ¸Ã1ˆ¬ ·±e≈̆ œ b) Shane Warne ̊  Œù´Ú ª±Ì«

c) M.S. Dhoni ̊  ¤˜, ¤‰¬ ŒÒ±Úœ d) Virender Sehwag ̊  ø¬ıÀ1f Œ¸ √̋√ª±·

19. The World’s smallest country is ̊  ¬Û‘øÔªœ1 é≈¬^Ó¬˜ 1±©Ü™‡Ú ̋ √√í˘ ---

a) Yemen ̊  Œ˚̨À˜Ú b) Tibet ̊  øÓ¬¬ı3Ó¬

c) Jerusalem ̊  ŒÊ√1n∏Ê√±À˘˜ d) Vatican city ̊  Œˆ¬øÈ¬fl¡±Ú ø‰¬øÈ¬

20. A spider has ________ legs ̊  ̃ fl¡1±1 ̃ ≈Í¬ øfl¡˜±ÚÈ¬± ŒÍ¬— ’±ÀÂ√∑

a) 10 ̊  10 È¬± b) 8 ˚ 8 È¬± c) 6 ˚ 6 È¬± d) 7 ˚ 7 È¬±

21. Wood pulp is used in the manufacture of ̊  fl¡±Í¬1 ̃ G øfl¡ ̧ ±˜¢∂œ õ∂dÓ¬ fl¡1±Ó¬ ¬ı…ª √̋√±1 ̋ √√̊ ˛∑

a) Paper ̊  fl¡±·Ê√ b) Nylon ̊  Ú± ◊̋√√̆ íÚ

c) Rayon ̊  Œ1 ˛̊Ú d) Mercerized Cotton ̊  ̃ ±ø‰«¬1± ◊̋√√ÊÎ¬ƒ ̧ ≈Ó¬±
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22. Which of the following is obtained from plants ? ̊  Î¬◊øæ√√1 ¬Û1± øfl¡ ’± √̋√1Ì fl¡1± ̋ √√̊ ∑̨

a) Quinine ̊  fl≈¡ ◊̋√√Ú± ◊̋√√Ú b) Penicilin ̊  Œ¬ÛøÚøÂ√ø˘Ú c) Insulin ̊  ̋ ◊√√ÚÂ≈√ø˘Ú d) Librium ̊  ̆ ± ◊̋√√À¬ıË̊ ±̨˜

23. Who built the Jama Masjid (Delhi) ? ̊  Ê√±˜± ̃ Â√øÊ√√ Œfl¡±ÀÚ ̧ Ê√± ◊̋√√øÂ√̆ ∑

a) Jahangir ̊  Ê√± √̋√±eœ1 b) Akbar ̊  ’±fl¡¬ı1 c) Humayun ̊  U˜±˚̨≈Ú d) Shahjahan ̊  ù´± √̋√Ê√± √̋√±Ú

24. Dalai Lama belongs to ̊  √±˘± ◊̋√√ ̆ ±˜± Œfl¡±Ú Œ√̇ 1 Œ˘±fl¡∑

a) China ̊  ‰¬œÚ b) Tibet ̊  Ó¬œ¬ı3Ó¬ c) Hongkong ̊  ̋ √√—fl¡— d) Nepal ̊  ŒÚ¬Û±˘

25.   stands for ˚   õ∂Ó¬œfl¡ÀÈ¬± øfl¡˝√√1 ̆ ·Ó¬ Ê√øÎ¬ˇÓ¬ ∑

a) SBI ̊  Œ©ÜÈ¬ Œ¬ı—fl¡ ’ª ̋ ◊√√øG ˛̊± b) UBI ̊  ̋ ◊√√Î¬◊Ú± ◊̋√√ÀÈ¬Î¬ Œ¬ı—fl¡ ’ª ̋ ◊√√øG ˛̊±

c) UCO Bank ̊  ̋ ◊√√Î¬◊Ú± ◊̋√√ÀÈ¬Î¬ fl¡˜±ø‰«¬À ˛̊̆  Œ¬ı—fl¡ d) AXIS Bank ̊  ¤ø'Â√ Œ¬ı—fl¡

26. Complete the series ̊  ̧ •Û”Ì« fl¡1± ---

3, 9, 36, 180, ____

a) 640 b) 840 c) 1080 d) 1280

27.  Choose the correct answer  ̊  qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±º

a) b) c) d)

28. If cow is to calf, Dog, is to __  ̊  ̊ ø√ Cow – Calf   ̋ √√˚˛ ŒÓ¬ÀôL Dog -- øfl¡ ̋ √√í¬ı∑¡

a) Kid ̊  øfl¡Îƒ¬ b) Tadpole ̊  ŒÈ¬Îƒ¬À¬Û±˘ c) Bitch ̊  ø¬ıÈƒ¬‰¬ d) Puppy ̊  ¬Û±mœ

29. Find the odd one out ̊  Δ¬ı¸±‘√̇ …ÀÈ¬± ø¬ı‰¬±ø1 Î¬◊ø˘›ª±º

a) C.V. Raman ̊  øÂ√, øˆ¬, 1˜Ú b) J.C. Bose ˚ ŒÊ√, ø‰¬ Œ¬ı±¸

c) M.F. Hussain ̊  ¤˜, ¤Ù¬, UÀÂ√̋ ◊√√Ú d) H.J. Bhaba ̊  ¤ ◊̋√√‰¬, ŒÊ√, ̂ ¬±¬ı±

30. Which one of the following is a cartoon network ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± fl¡±È«¬≈Ú ŒÚÈ¬ª±fl«¡∑

a) Logo ̊  ̆ À·± b) Pogo ̊  ¬ÛíÀ·± c) 9X d) etc ̊  ̋ ◊√√Ó¬…±ø√

General Science ˚ ¸±Ò±1Ì ø¬ı:±Ú

31. Plants, animals and human beings are ̊  Î¬◊øæ√√, õ∂±Ìœ ’±1n∏ ̃ ±Ú≈̋ √√ Δ √̋√ÀÂ√--

a) Non living things ̊  Ê√Î¬̌ ¬Û√±Ô« b) Living things ̊  Ê√œª

c) Natural things ̊  õ∂±fl‘¡øÓ¬fl¡ Ê√œª d) Both (b) & (c) ̊  [b] ’±1n∏ [c] Î¬◊̂ ¬À ˛̊

32. Plants take in air through tiny openings called ̊  Î¬◊øæ√À√ ¬ı±˚̨≈ ¢∂ √̋√Ì fl¡1± é≈¬^ ø¬ıg±À¬ı±1fl¡ Œfl¡±ª± ̋ √√̊ -̨-

a) Roots ̊  ø˙¬Û± b) Leaves ̊  ¬Û±Ó¬ c) Stomata ̊  ¬ÛS1h d) Stem ̊  fl¡±G
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33. For germination, seeds need ̊  ¬ıœÊ√ ’Ç≈1Ì1 ¬ı±À¬ı õ∂À ˛̊±Ê√Ú--

a) Air ̊  ¬ı± ˛̊≈ b) Warmth ̊  Ó¬±¬Û c) Water ̊  ¬Û±Úœ d) All of them ̊  ’±È¬± ◊̋√√Àfl¡ ◊̋√√È¬±

34. The odd one is ̊  ’ø˜˘ÀÈ¬± ¬ı±ø‰¬ Î¬◊ø˘›ª± –

a) Lizards ̊  ŒÊ√Í¬œ b) Snakes ̊  ̧ ±¬Û c) Frogs ̊  Œˆ¬fl≈¡˘œ d) Rats ̊  ¤μ≈1

35. Which of the following birds fly over long distances ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ ‰¬1±À˚̨ ’øÒfl¡ ”√1Õ˘ Î¬◊ø1¬ı ¬Û±À1∑

a) Eagles ̊  ÷·˘ b) Vultures ̊  ̇ &Ú c) Crows ̊  fl¡±Î¬◊1œ d) None of these ̊  ¤È¬±› Ú √̋√̊ ˛

36. Flesh-eating birds always have ̊  ̃ ±—¸ √̋√±1œ ‰¬1± ◊̋√√1 ................. Ô±Àfl¡

a) Strong eyesight ̊  õ∂‡1 ‘√ø©Ü̇ øMê√ b) Strong sense of smell ˚ ̧ ”Ñ ‚Ë±Ì ̇ øMê√

c) Strong curved beaks ̊  ‘√Ï¬ˇ ’±1n∏ Œ¬ı“fl¡± ŒÍ¬±“È¬ d) Strong feathers ̊  ̇ øMê√̇ ±˘œ ŒÎ¬Î¬◊fl¡±

37. Which of the following is the best soil for growing coconut ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ ̃ ±øÈ¬ Ú±ø1fl¡˘1 ¬ı±À¬ı Î¬◊M√√̃ ∑

a) Sandy ̊  ¬ı±ø˘‰¬ √̋√œ ˛̊± ̃ ±øÈ¬ b) Clay ̊  Œ¬ı±fl¡± ̃ ±øÈ¬

c) Loamy ̊  ¬Û˘ ≈̧ª± d) None ̊  ¤È¬±› Ú √̋√̊ ˛

38. Which of the following is not dissolved in kerosine ? ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ Œfl¡1±ø‰¬ÚÓ¬ ̂ ªœˆ¬”Ó¬ Ú √̋√̊ ∑̨

a) Wax ˚ ˜˜ b) Salt ̊  øÚ˜‡

c) Sugar ̊  Œ‰¬Úœ d) Both (b) and (c) ̊  [b] ’±1n∏ [c] ≈√À ˛̊±È¬± ◊̋√√

39. What causes days and nights ? ̊  ø√Ú-1±øÓ¬ øfl¡ √̋√1 ¬ı±À¬ı ̋ √√̊ ˛∑

a) Earth’s rotation ̊  ¬Û‘øÔªœ1 ’±ø˝êfl¡ ·øÓ¬ b) Earth’s revolution ̊  ¬Û‘øÔªœ1 ¬ı±ø ∏̄«fl¡ ·øÓ¬

c) Sun’s rotation ̊  ̧ ”̊ «1 ’±ªÓ«¬Ú d) Sun’s revolution ̊  ̧ ”̊ «1 õ∂√øé¬Ì

40. India’s first setellite launched in ̊  ̂ ¬±1Ó¬1 õ∂Ô˜ Î¬◊¬Û¢∂ √̋√ ................... ‰¬ÚÓ¬ Î¬◊»Àé¬¬ÛÚ fl¡1± Δ √̋√øÂ√̆ ∑

a) 1970 b) 1975 c) 1980 d) 1985

41. Weather is predicted by considering ̊  øfl¡ √̋√1 ›¬Û1Ó¬ øˆ¬øM√√ fl¡ø1 ¬ıÓ¬11 ’±·Ê√±ÚÚœ ø√̊ ˛± ̋ √√̊ ˛∑

a) The movement of air ̊  ¬ıÓ¬± √̋√1 ‰¬˘±‰¬˘ b) Amount of water vapour ̊  Ê√̆ œ ˛̊ ̂ ¬±¬Û1 ¬Ûø1˜±Ì

c) Temperature ̊  Î¬◊̄ ûÓ¬± d) All the above ̊  ’±È¬± ◊̋√√À¬ı±1

42. Which of the followings gives shape and size to our body is ̊  øfl¡À √̋√ ̇ 1œ11 ’±fl¡±1 ’±1n∏ ·Í¬ÌÓ¬ ̧ √̋√±˚̨ fl¡À1∑

a) Muscular ̊  Œ¬Û˙œ b) Skeleton ̊  fl¡—fl¡±˘ c) Nervous ̊  ¶ß±˚̨≈ d) Respiratory ̊  ù´±¸ õ∂ù´±¸

43. The nervous system is made of ̊  ¶ß± ˛̊≈Ó¬La øfl¡À √̋√À1 ·øÍ¬Ó¬ ∑

a) Brain ̊  ̃ ·Ê≈√ b) Spinal cord˚Œ˜1n∏√G c) Nerves ̊  ¶ß± ˛̊≈ d) All the above ̊  ’±È¬± ◊̋√√À¬ı±1

44. Which of the following is an antiseptic ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± õ∂øÓ¬À1±Òfl¡∑

a) Dettol ̊  ŒÎ¬È¬˘ b) Savlon ̊  Œ‰¬ˆ¬˘Ú c) Lyzol ̊  ̆ ± ◊̋√√Ê√̆ d) All of above ̊  ’±È¬± ◊̋√√Àfl¡ ◊̋√√È¬±



G:\ANTSE_2009\Class-3 (Science-Maths)        Page No. # 5

[5]

45. Which of the following is true for the molecules of gases ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± Œ·Â√1 ’Ú≈1 Œé¬SÓ¬ ̧ Ó¬…∑

a) They have a fixed volume ˚ øÚø«√©Ü ’± ˛̊Ó¬Ú ’±ÀÂ√

b) They have a fixed shape ̊  øÚø«√©Ü ’±fl¡±1 ’±ÀÂ√

c) They can not move freely ˚ ̃ ≈Mê√ˆ¬±À¬ı ‰¬˘±‰¬˘ fl¡ø1¬ı ŒÚ±ª±À1

d) They can move around freely ̊  ̃ ≈Mê√̂ ¬±À¬ı ‰¬˘±‰¬˘ fl¡ø1¬ı ¬Û±À1

46. Molecules are the components of ̊  ’Ú≈À¬ı±1 øfl¡ √̋√1 Î¬◊¬Û±√±Ú∑

a) Solutions ̊  ̂ ª b) Gases ̊  Œ·Â√ c) Solids ̊  fl¡øÍ¬Ú ¬Û√±Ô« d) All the above ̊  ’±È¬± ◊̋√√À¬ı±1

47. The temperature of a normal human body is ̊  ̇ 1œ11 ̧ ±Ò±1Ì Ó¬±¬Û˜±S± øfl¡˜±Ú∑

a) 37° C ˚ ŒÂ√–À¢∂– b) 98.4° C ˚ ŒÂ√–À¢∂– c) 100° C ˚ ŒÂ√–À¢∂– d) 35° C ˚ ŒÂ√–À¢∂–

48. An example for carnivore is ̊  ̃ ±—¸± √̋√±1œ1 Î¬◊√± √̋√1Ì ̋ √√í˘--

a) Man ̊  ̃ ±Ú≈̋ √√ b) Crow ̊  fl¡±Î¬◊1œ c) Goat ̊  Â√±·˘œ d) Snake ̊  ̧ ±¬Û

49. Chipko movement prevents  ̊  ø‰¬¬ÛÀfl¡± ’±Àμ±˘ÀÚ øfl¡ fl¡± «̊fl¡ ¬ı±Ò± ø√À ˛̊∑

a) Cutting down of trees ̊  ·Â√-·Â√øÚ fl¡È¬± b) Culling of birds ̊  ¬Ûé¬œ øÚÒÚ

c) Planting of trees ̊  ¬ı‘é¬À1±¬ÛÚ d) All the above ̊  ’±È¬± ◊̋√√À¬ı±1

50. Which of the following plant has tap root ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ Î¬◊øæ√√1 ‰≈¬ø˘ ø˙¬Û± Ô±Àfl¡

a) Grass ̊  ‚±“̋ √√ b) Pea ˚ ˜È¬1 c) Wheat ̊  ̊ ª d) Rice ̊  Ò±Ú

51. Which of the following root stores food ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ ø˙¬Û± ◊̋√√ ‡±√… ̧ = ˛̊ fl¡À1∑

a) Ginger ̊  ’±√± b) Potato ̊  ’± ≈̆

c) Sweet potato ̊  ø˜Í¬± ’±˘≈ d) All the above ̊  ’±È¬± ◊̋√√Àfl¡ ◊̋√√È¬±

52. Which animal out of these loves to eat carrots ? ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ Ê√cÀª ·±Ê√1 ‡±¬ıÕ˘ ̂ ¬±˘ ¬Û± ˛̊∑

a) Rat ̊  ¤μ≈1 b) Squirrel ̊  Œfl¡Àfl«¡È≈¬ª± c) Rabbit ̊  ̇ √̋√±¬ÛU d) All of them ̊  ’±È¬± ◊̋√√À¬ı±1

53. Which of these devices makes the sound louder ? ̊  ̇ sfl¡ Ó¬œ¬ıË fl¡ø1¬ı ¬Û1± ̊ Laø¬ıÒ ̋ √√í˘--

a) Microphone ̊  ̃ ± ◊̋√√SêíÀÙ¬±Ú b) Telephone ̊  ŒÈ¬ø˘ÀÙ¬±Ú

c) both (a) & (b) ̊  [] ’±1n∏ [] ≈√À ˛̊±È¬± d) Mobile phone ̊  Œ˜±¬ı± ◊̋√√̆  ŒÙ¬±Ú

54. Which of the following diagram correctly illustrates the position of the sun, earth and moon during a lunar eclipse ? ̊  Ó¬̆ 1

Œfl¡±ÚÀÈ¬± ø‰¬S ◊̋√√ qXÕfl¡ ‰¬f ¢∂ √̋√Ì1 ̧ ˜ ˛̊Ó¬ ̧ ”̊ «…, ¬Û‘øÔªœ ’±1n∏ ‰¬f1 ’ª¶ö±Ú ¬ı…±‡…± fl¡ø1ÀÂ√∑

a) b)

c) d)
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55. Water turns to ice by ̊  Œfl¡ÀÚÕfl¡ ¬ı1Ù¬ ¬Û±ÚœÕ˘ 1+¬Û±ôLø1Ó¬ ̋ √√ ˛̊ ∑

a) Condensation ̊  ‚Ìœˆ¬”Ó¬ b) Cooling ̊  Í¬±G± fl¡ø1

c) Freezing ̊  ̇ œÓ¬˘œfl¡1Ì d) Vaporisation ̊  ¬ı±©Ûœ˚̨fl¡1Ì

56. The amount of moisture in the air is called ̊  ¬ı± ˛̊≈Ó¬ Ôfl¡± Ê√̆ œ ˛̊ ¬ı±©Ûfl¡ øfl¡ Œ¬ı±À˘∑

a) Dew ̊  øÚ ˛̊1 b) Mist ̊  fl≈¡“ª˘œ c) Hail ̊  ø˙˘±¬ı‘ø©Ü d) Humidity ̊  ’± «̂Ó¬±

57. Solids have ̊  fl¡øÍ¬Ú ¬Û√±Ô«1

a) Definite volume and definite shape ̊  øÚø«√©Ü ’±˚̨Ó¬Ú ’±1n∏ ’±fl¡±1 ’±ÀÂ√

b) Definite volume but not definite shape ̊  øÚø«√©Ü ’±˚̨Ó¬Ú ’±ÀÂ√ øfl¡c øÚø«√©Ü ’±fl¡±1 Ú± ◊̋√√

c) Neither definite volume nor definite shape ̊  Œfl¡±ÀÚ± øÚø«√©Ü ’±˚̨Ó¬Ú Ú± ◊̋√√¬ı± ’±fl¡±1 Ú± ◊̋√√

d) Definite mass but not definite volume ̊  øÚø«√©Ü ̂ ¬1 ’±ÀÂ√ øfl¡c øÚø«√©Ü ’±˚̨Ó¬Ú Ú± ◊̋√√

58. Backbone protects the ̊  Œ˜1n∏√G ◊̋√√ 1é¬Ì±À¬ıé¬Ì ø√À ˛̊ -

a) Brain ̊  ̃ øô¶©®fl¡ b) Lungs ̊  ̋ √√±“›Ù¬±›fl¡ c) Heart ̊  ̋ √√+√̊ La d) Spinal Cord ̊  Œ˜1n∏ ̃ 7¡¡¡±fl¡

59. Volume of a liquid is measured in ̊  Ó¬1˘ ¬Û√±Ô«1 ’±˚̨Ó¬Ú1 ŒÊ√±‡ ̋ √√í˘

a) Metres ̊  ø˜È¬±1 b) Litres ̊  ø˘È¬±1 c) Grams ̊  ¢∂±˜ d) All the above˚’±È¬± ◊̋√√Àfl¡ ◊̋√√È¬±

60. The blood supplies ̊  ŒÓ¬ÀÊ√ Œ˚±·±Ú ÒÀ1 --

a) Food ̊  ‡±√… b) Oxygen ̊  ’ø'ÀÊ√Ú

c) Both (a) & (b) ̊  [a] ’±1n∏ [b] ≈√À ˛̊±È¬± d) None of these ̊  ¤È¬±› Ú √̋√̊ ˛

General Mathematic ˚ ¸±Ò±1Ì ·øÌÓ¬

61. A  4-digit number is written in the boxes below. If the sum of any three consecutive digits is 20 find the value of A ̊

Ó¬˘1 ¬ı±fl¡‰¬Ó¬ ‰¬±ø1È¬± ’—fl¡À1 ø˘ø‡¬ı ¬Û1± ¤È¬± ̧ —‡…± ’±ÀÂ√º ̊ ø√ ̋ ◊√√˝√√“Ó¬1 Sêø˜fl¡ ø˚Àfl¡±ÀÚ± øÓ¬øÚÈ¬± ̧ —‡…±1 Œ˚±·Ù¬˘ 20 ̋ √√˚˛ ŒÓ¬ÀôL A 1 ̃ ±Ú ̋ √√í¬ıº

a) 1 b) 4 c) 7 d) 8

62. 7 + 7 + 7 + 7 + 7 + 7 =  × 7

a) 1 b) 5 c) 6 d) 7

63. The least number among the following ̊  Ó¬˘1 ’±È¬± ◊̋√√Ó¬Õfl¡ ̧ 1n∏ ̧ —‡…±ÀÈ¬± ̋ √√í¬ı---

a) 68 ÷ 4 b) 68 × 4 c) 68 + 4 d) 68 – 4

64. Study the following diagram and then find the missing terms ̊  Î¬◊¬Û ≈̊Mê√ ̧ —‡…±À1 Ó¬˘1 ø‰¬SøÈ¬ ̧ •Û”Ì« fl¡1±

a) 8 b) 6 c) 4 d) 3
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65. A boy was asked to write Seven hundred and forty one. But he wrote 70041. The difference between the number he

wrote and the number he was asked to write is ˚ ¤Ê√Ú ˘í1±fl¡ ¸±Ó¬˙ ¤fl¡‰¬ø~˙ ø˘ø‡¬ıÕ˘ Œfl¡±ª±Ó¬ ø¸ 70041 ø˘ø‡À˘º ˘í1±Ê√Úfl¡

ø˘ø‡¬ıÕ˘ Œfl¡±ª± ̧ —‡…±ÀÈ¬± ’±1n∏ ŒÓ¬›“ ø˘‡± ̧ —‡…±ÀÈ¬±1 ¬Û±Ô«fl¡… ̋ √√í¬ı---

a) 70,782 b) 69,300 c) 70,700 d)  None of these˚¤È¬±› Ú √̋√̊ ˛

66. The smallest two digits number which is divisible by 3 and 4 is ̊  ≈√È¬± ’—fl¡À1 ·øÍ¬Ó¬ 3 ’±1n∏ 4 Î¬◊̂ ¬˚̨À1 ø¬ıˆ¬±Ê√… ’±È¬± ◊̋√√Ó¬Õfl¡ ̧ 1n∏ ̧ —‡…±ÀÈ¬±

√̋√í¬ı---

a) 15 b) 10 c) 12 d) All of these˚’±È¬± ◊̋√√Àfl¡̋ ◊√√È¬±

67. In a one-day cricket match between India and Pakistan, Indian team scored 386 runs and won the match  by 37 runs.

How many runs were scored by the Pakistan team ? ̊  ̂ ¬±1Ó¬ ’±1n∏ ¬Û±øfl¡ô¶±Ú1 ¤ø√Úœ˚̨± øSêÀfl¡È¬ Œ‡˘Ó¬ ̂ ¬±1Ó¬œ˚̨ √À˘ ̃ ≈Í¬ 386 1±Ì ̧ —¢∂ √̋√

fl¡À1º ̊ ø√ ̂ ¬±1Ó¬œ˚˛ √À˘ 37 1±Ì1 ¬ı…ªÒ±ÚÓ¬ Ê√˚˛ ̆ ±ˆ¬ fl¡À1 ŒÓ¬ÀôL ¬Û±øfl¡ô¶±Ú1 √À˘ ̧ —¢∂˝√√ fl¡1± 1±Ì1 ̧ —‡…± ̋ √√í¬ı--

a) 368 b) 348 c) 349 d) None of these˚¤È¬±› Ú √̋√̊ ˛

68. A line has ̊  ¤Î¬±˘ Œ1‡±1

a) End points ̊  õ∂±ôL ø¬ıμ≈ ’±ÀÂ√ b) No end points ̊  õ∂±ôL ø¬ıμ≈ Ú± ◊̋√√

c) No length ̊  Δ√‚« Ú± ◊̋√√ d) Both (b) and (c) ̊   (b) ’±1n∏ (c) ≈√À ˛̊±È¬±

69. Which one of the following is equivalent to 38 in Roman numerals ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± Œ1±˜±Ì ̧ —‡…± ¬ÛXøÓ¬ ̃ ÀÓ¬ 38 1 ̧ ˜±Ú ̋ √√í¬ı--

a) XXXVIII b) XXXIV c) XXIX d) XXXVII

70. Subtracting the sum of 532 and 235 from the greatest number of 3 digit, the result will be ̊  øÓ¬øÚÈ¬± ’—fl¡À1 ·øÍ¬Ó¬ ’±È¬± ◊̋√√Ó¬Õfl¡

Î¬±„√√1 ¸—‡…±1 ¬Û1± 532 ’±1n∏ 235 1 ¸˜ø©Ü1 ’ôL1 Ù¬˘ ˝√√í¬ı---

a) 323 b) 232 c) 332 d) 223

71. A box contains 65 chalk-sticks. The number of chalk-sticks contain in 65 boxes will be ̊  ¤È¬± ‰¬fl¡ Œ¬Ûø=˘1 ¬ı±fl¡‰¬Ó¬ 65 Î¬±˘

‰¬fl¡ ÒÀ1º ŒÓ¬ÀÚ 65 È¬± ¬ı±fl¡‰¬Ó¬ Œfl¡˝◊√√Î¬±˘ ‰¬fl¡ Œ¬Ûø=˘ Ô±øfl¡¬ı∑

a) 3625 b) 4225 c) 3025 d) 2525

72. One third of the sum of all the odd number between 10 to 20 will be ̊  10 ’±1n∏ 20 1 ̃ ±Ê√Ó¬ Ôfl¡± ’±È¬± ◊̋√√À¬ı±1 ’ ≈̊¢¨ ̧ —‡…±1 ̧ ˜ø©Ü1

¤fl¡ Ó‘¬Ó¬œ ˛̊±—˙ ̋ √√í¬ı---

a) 40 b) 50 c) 30 d) 20

73. The fraction for the shaded part is ̊  ø‰¬SÓ¬ Â√±“À1 ’±¬ı‘Ó¬ ’—˙1 ̂ ¬¢ü±—˙ ̋ √√í¬ı--

a)
2

1
b)

4

1
c)

8

1
d) None of these˚¤È¬±› Ú √̋√̊ ˛
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74. The difference between the place value and face value of 3 in the number 403025 is ̊  403025 ̧ —‡…±Ó¬ 3 1 ¶ö±Úœ˚̨ ̃ ±Ú ’±1n∏

¸±—ø‡…fl¡ ̃ ±Ú1 ’ôL1---

a) 402997 b) 2997 c) 3022 d) 3997

75. The minute hand take 35 minutes to move from 7 to ̊  ‚Î¬ˇœ1 ø˜øÚÈ¬1 fl¡±È¬±Î¬±À˘ 7 1 ¬Û1± 35 ø˜øÚÈ¬ ̧ ˜˚˛ ’øÓ¬Sê˜ fl¡ø1À˘ fl¡±È¬±Î¬±˘

Ô±øfl¡¬ı---

a) 10 b) 9 c) 12 d) 2

76. We write 1 rupee and 5 paise as ̊  ¤È¬fl¡± 5 ¬Û ◊̋√√‰¬±fl¡ È¬fl¡±Ó¬ õ∂fl¡±˙ fl¡1±--

a) Rs. 100.5 [È¬fl¡±] b) Rs. 105.00 [È¬fl¡±]¡ c) Rs. 100.05 [È¬fl¡±] d) Rs. 1.05 [È¬fl¡±]

77. David spent Rs. 15.75 for a pen, Rs. 24.25 for a book and he gave the shopkeeper a one hundred rupee note. The

sopkeeper returned ̊  ŒÎ¬øˆ¬À√ ¤Ê√Ú Œ√±fl¡±Úœ1 ¬Û1± 15.75 È¬fl¡±1 ¤È¬± fl¡˘˜, 24.25 È¬fl¡±1 ¤‡Ú øfl¡Ó¬±¬Û Δ˘ Œ√±fl¡±Úœfl¡ ¤˙ È¬fl¡œ ˛̊± ŒÚ±È¬ ¤‡Ú

ø√À˘º Œ√±fl¡±ÚœÀ ˛̊ ŒÎ¬øˆ¬√fl¡ ‚”1± ◊̋√√ ø√¬ı --

a) Rs. 50.25 [È¬fl¡±] b) Rs. 60.00 [È¬fl¡±] c) Rs. 45.50 [È¬fl¡±] c) Rs. 40.00 [È¬fl¡±]

78. Number of angles form in the figure is ̊  ø‰¬SÀÈ¬±Ó¬ Î¬◊»¬Ûiß Œ √̋√±ª± Œfl¡±Ì1 ̧ —‡…± ̋ √√í¬ı--

a) 4 b) 2 c) 3 d) 1

79. Which of the following shape has only curved surface ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± Ê√…±ø˜øÓ¬¡ ø‰¬S1 Œfl¡ª˘ ¬ıSê Ó¬˘ Ô±Àfl¡--

a) Cylender ̊  ‰≈¬„√√±1 b) Cone ˚ ˙Ç≈1 c) Sphere ̊  Œ·±˘fl¡1 d) Cube ˚ ‚Ìfl¡1

80. The perimetre of a square whose side is 5.25 cm length will be ̊  5.25 ŒÂ√–ø˜– ¬ı±U ø¬ıø˙©Ü ¬ı·«Àé¬S ¤È¬±1 ¬Ûø1¸œ˜± ̋ √√í¬ıº

a) 10.50 cm˚ŒÂ√–ø˜– b) 21.00 cm˚ŒÂ√–ø˜– c) 15.75 cm˚ŒÂ√–ø˜– d) 20.20 cm˚ŒÂ√–ø˜–

81. The weight of three boys are 46 kg.800g, 42 kg.500g and 40 kg.700g. Their total weight is ̊  øÓ¬øÚÊ√Ú ̆ í1±1 ›Ê√Ú SêÀ˜ 46

øfl¡–¢∂±– 800 ¢∂±˜, 42 øfl¡–¢∂±– 700 ¢∂±˜ ’±1n∏ 40 øfl¡–¢∂±– 700 ¢∂±˜º ŒÓ¬›“À˘±fl¡1 ˜≈Í¬ ›Ê√Ú ˝√√í¬ı---

a) 130 kg b) 120 kg.500g c) 140 kg d) 120 kg

82. 25 minutes to 10 means ̊  10 È¬± ¬ı±øÊ√¬ıÕ˘ 25 ø˜øÚÈ¬ ̃ ±ÀÚ ---

a) 9-45 b) 9-15 c) 9-35 d) None of these˚¤È¬±› Ú √̋√̊ ˛

83. Rupee 10 is equal to ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± 10 È¬fl¡±1 ̧ ˜Ó≈¬˘…

a) 20 fifty paise coins ̊ 20È¬± ¬Û=±‰¬ ¬Û ◊̋√√‰¬±1 ̃ ≈̂ ±¡ b) 10 fifty paise coins ̊  10 È¬± ¬Û=±‰¬ ¬Û ◊̋√√‰¬±1 ̃ ≈̂ ±

c) 100 one paise coins ̊  100 È¬± ¤¬Û ◊̋√√‰¬±1 ̃ ≈̂ ± d) None of these ̊  ¤È¬±› Ú √̋√̊ ˛

84. What must be added to 84 to make it 500 ̊  84 1 ̆ ·Ó¬ øfl¡ Œ˚±· fl¡ø1À˘ 500 ̋ √√í¬ı ∑

a) 412 b) 416 c) 426 d) 446

85. Which of the following sets represents prime numbers ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± Œ˜Ãø˘fl¡ ̧ —‡…±1 Œ·±È¬ ̋ √√̊ -̨--

a) 2, 4, 7 b) 3, 7, 12 c) 3, 5, 7 d) 10, 13, 19
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86. Number of straight lines that can be drawn through one point is ̊  ¤È¬± ø¬ıμ≈1 ̃ ±ÀÊ√ø√ È¬±øÚ¬ı ¬Û1± ̧ 1˘ Œ1‡±1 ̧ —‡…±---

a) 1 b) 2 c) Infinite ̊  ’¸—‡… d) None of these˚¤È¬±› Ú √̋√̊ ˛

87.
2

1
 of 

3

1
12 +  of 9 – 8 = ? ˚ 

2

1
 1 

3

1
12+  1 9 – 8 = ?

a) 11 b) 12 c) 8 d) 1

88. Which of the following figures has equal sides ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬±1 ¬ı±UÀ¬ı±1 ̧ ˜±Ú --

a) Rectangle ̊  ’±˚̨Ó¬1 b) Triangle ̊  øS ¬̂≈Ê√1 c)     Trapezium˚Œ¬∏Cø¬ÛøÊ√̊ ˛±˜1 d) Square ̊  ¬ı·«1

89. How many months of 30 days are there in a year ? ̊  ¬ıÂ√1ÀÈ¬±Ó¬ 30 ø√Úœ ˛̊± ̃ ± √̋√1 ̧ —‡…±---

a) 3 b) 5 c) 6 d) 4

90. 6 km. 30m equals to ̊  6 øfl¡–ø˜– 30 ø˜–1 ̧ ˜±Ú

a) 6030 m˚ø˜– b) 60030 m˚ø˜– c) 630m˚ø˜– d) None of these˚¤È¬±› Ú √̋√̊ ˛

91. The next number in the series 30, 38, 46 ............. is ̊  30, 38, 46 ...... ¬Û1ªÓ«¬œ [ø¬ÛÂ√1] ̧ —‡…±ÀÈ¬± ̋ √√í¬ı--

a) 52 b) 48 c) 58 d) 54

92. The greatest number formed by using the digits 2, 0, 1, 5 only once is ̊  2, 0, 1, 5 1 ¡Z±1± ø˘ø‡¬ı ¬Û1± ’±È¬± ◊̋√√Ó¬Õfl¡ Î¬±„√√1 ̧ —‡…±ÀÈ¬±

˝√√í¬ı ---

a) 2051 b) 5021 c) 5201 d) 5210

93. Difference between the greatest number and smallest number of two digits is ̊  ≈√È¬± ’—fl¡À1 ø˘ø‡¬ı ¬Û1± ’±È¬± ◊̋√√Ó¬Õfl¡ Î¬±„√√1 ’±1n∏

’±È¬± ◊̋√√Ó¬Õfl¡ ̧ 1n∏ ̧ —‡…± ≈√È¬±1 ¬Û±Ô«fl¡… ̋ √√í¬ı--

a) 89 b) 79 c) 98 d) None of these˚¤È¬±› Ú √̋√̊ ˛

94. How many weeks are there in ten and half years ? ̊  
2

1
10  ¬ıÂ√1Ó¬ Œfl¡ ◊̋√√ ̧ 5± √̋√ Ô±Àfl¡∑

a) 645 b) 465 c) 564 d) 546

95. A football is in the shape of a :  ̊  ¤È¬± Ù≈¬˘¬ı˘1 ’±fl¡±1

a) Circle ̊  ¬ı‘M√√ b) Sphere ̊  Œ·±˘fl¡ c) Wheel ̊  ‰¬fl¡± d) Disc ̊  Ô±˘

96. Which of the following is equivalent to 
19

17
˚ Ó¬˘1 Œfl¡±ÚÀÈ¬± 

19

17
1 ̧ ˜±Ú ∑

a)
399

357
b)

342

255
c)

299

197
d) None of these˚¤È¬±› Ú √̋√̊ ˛

97. Which one is divisible by 3 ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± 3 Œ1 ø¬ıˆ¬±Ê√… --

a) 7415 b) 7416 c) 7463 d) 7451
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98. Result of 
7

2

28

4

7

1
++  is  ̊  

7

2

28

4

7

1
++ 1 ̧ —øé¬5 1+¬Û --

a)
28

7
b)

2

4
c)

7

6
d) None of these˚¤È¬±› Ú √̋√̊ ˛

99. Difference between the greatest and the smallest number that can be written by 3, 1, 0, 2 digits be ̊  3, 1, 0, 2 1 ¡Z±1± ø˘ø‡¬ı

¬Û1± ’±È¬± ◊̋√√Ó¬Õfl¡ Î¬±„√√1 ’±1n∏ ’±È¬± ◊̋√√Ó¬Õfl¡ ̧ 1n∏ ̧ —‡…±¡Z ˛̊1 ¬Û±Ô«fl¡… ̋ √√í¬ı ---

a) 1187 b) 3187 c) 2187 d) None of these

100. 783 trees were equally planted in 9 rows. Number of tree in two rows will be ̊  783 ŒÊ√±¬Û± ·Â ¬Û≈ø˘ 9 È¬± ̇ ±1œÓ¬ ̧ ˜±ÀÚ Œ1±ª±

˝√√í˘º Ó¬±À1 ≈√È¬± ̇ ±1œÓ¬ ̃ ≈Í¬ ·Â√1 ¬Û≈ø˘ ̋ √√í¬ı ---

a) 184 b) 87 c) 164 d) 174
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